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forcer -
(i) Tt weaT fAarT gl

(i) 9 HAR 1 H 4 dh TEIASS MR &1 TAH U 1x5=5 3 AR &1 Fer
37 5x4=25 &1

(i) 9T AP 5 T 22 deh HdRe Gdhed o T &

(iv) 9% 9t & fAv dfed 3 3 THAE 3fhd ©l

(v) 92T HATR 5 T 9 doh Ucdeh U & 3ca 30 Usal H SIIT |

(vi) 9% haTeh 10 ¥ 14 doh Ucdd U &l 3cdl ofdlsTaT 75 Asal H SIaiT|

(vii) UeeT haTeh 15 T 19 deh Ucdsh RS &l 3caX o9rster 120 Asel H aIfoie|
(viii) U2eT shaTeR 20 ¥ 22 deh Ucdeh RS I 3caX ofereiel 150 Usel H o]
(

ix) STgl 37T gl, TI=G U ATHI[obd T S|
Instructions :

(i) All questions are compulsory.

(i) Question No. 1 to 4 are objective type. Each question carries 1x5=5 marks. Total marks
are 5x4=20.

(iii) Internal options are given in question nos. 5 to 22.

(iv) Marks of each question are indicated against it.

(v) Answer question nos. 9 to 9 inabout 30 words each.

(vi) Answer question nos. 10 to 14 in about 75 words each.
(vii) Answer question nos. 15 to 19 in about 120 words each.

(viii) Answer question nos. 20 to 22 in about 150 words each.

(ix) Draw neat and clean labelled diagram wherever required.



1. el faered gaet e | 1x5=5
(i) P o e eAg F AT FT SaAT§| SHFT pH THIT: FATEIE?

(@) 1 (b) 4
(c) 5 (d) 10
(ii) HTT H ok Teh T [ AT ¢, 96 & -
(a) @rSOT (b) 2TET
(c) ScEsiet (d) aiEge
(i) AT 77 F g T W arg 1 viafed a7ar §, 98 8-
(a) aHrferaT (b) TRXTIReRT
(c) Yool (d) TfSeges
(iv) foega omr &1 sIAES § -
(a) ST (b) aTe
(c) e (d) TEGIT
(v T & & FiF 3R y@er &1 A0 w9 § 2
(a) =T, AT TAT ITH (b) =T, THL JAT ATAS

(c) SR, IMT AT grefy (d) ©TF, FGT duT ST

Choose and write the correct alternative.

(i) A solution turns red litmus blue, its pH is likely to be :

(@) 1 (b) 4
(c) 5 (d) 10
(ii) The kidneys in human beings are a part of the system for :
(@) nutrition (b) respiration
(c) excretion (d) transportation

(iii) The human eye forms the image of an object at its :

(a) acornea (b) iris

(c) Pupil (d) reting
(iv) S.lI. unit of electric current is —

(a) Joule (b) Watt

(c) Volt (d) Ampere

(v) Which of the following constitute is a food chain?
(@) Grass, wheat and mango (b) Grass, goat and human

(c) Goat, cow and elephant (d) Grass, fish and goat



2. RFa v #R3A
¥ FAATFIIT S 3cure & AT & Fra-gry FAT off 3T g ar g

(i)

39 FfATFAT Fga &

(i) 3 Mad WRO A HAE
(i) AvST & F FuaAr w1 ufauea B
(iv) T Tt & aaes & fov grase gofa $r souan gt gl

(v) Tk OIS T A gAY IS T deh FolT ol TATATAOT gferd giar gl
Fill in the blanks.

(i)

(ii)
(iif)
(iv)

(v)

1x5=5

Those reactions in which heat is released along with the formation of products

are called reactions.
There are

Mendal preposed the law of

groups in modern periodic table.

The least distance of distinct vision for young adult with normal vision is about

The energy transfer is

3. gl SIS S8y |

lelH

(i)
(ii)

-
arfeaH
ATRTeT

(iii) 3TT-grdr AT

(iv)
(v)

HATT 3T
Feraray &1 AT

Match the columns "A" with "B".

(i)

(ii)
(iii)
(iv)
(v)

npn
Sodium

Nephron
Endocrine gland
Homologous organ

Measurement of potential difference

(a)
(b)

(d)
(e)
(f)

(a)
(b)
(c)
(d)
(e)
(f)

percent from one trophical level to another.

1x5=5
FTeIH "
§AN Y Ud Fed & UG
drecTATe
sfafsramefrer g
grafeT
ad 91q
geFeh hI HIAACHF FehTg

nge
Our arm and a dog's foreleg
Voltameter

Highly reactive metal
Hormone

Liquid metal

Structural unit of kidney



4. TH qFT H Icax faf@di 1x5=5
(i) 2YE ST T pH AT FT § ?
(i) &Yy gt fr ofeqal & o S= S guis #F1 a7 R[FIfRT |
(iii) AT H AT Fr FAT ¥ e @1 o1 AT 7 2
(iv) ar sfamed guer & a7 [T |
(v) g9or g7 faf@w |

Write the answers in one sentence each.

(i) Whatis the pH value of pure water ?

(ii) Write the name of pigment found in leaf of green plants.

(iii) Which disease is found in human due to the deficiency of iodine ?
(iv) Write the names of two fossil fuels.

(v) Write mirror formula.

5. Fra-sifaT @ afenfia S | 2)
Define rancidity.
34T / OR
g Fr TEIHT W A YT FT FA § ?

Why do we apply paint on iron articles ?

6. TINSThdT &I IRATNT HITIT| (2)

Define valency.
HYar / OR
eivg & 3sceh [Qgid Hr ar dA AT |
Write the two limitations of Newland's law of octaves.
7. OIETOT AT § ? (2)
What is pollination ?
Y4t / OR
gaEves, SgEvsH ¥ fFE UFR T & ?

How does binary fission differ from multiple fission?

8. SiEameH FAT § ? (2)

What is fossils ?



10.

11.

12.

13.

34T / OR
HHSTA 3797 I IRAMNT HITAT |

Define homologous organ.

M GUOT & Tohell g s givemT fafe

Define the centre of curvature of the spherical mirror ?

32491 / OR
Hadel GUUT & HET Hiehd $Hr afkere faf@w

Define the principal focus of a concave mirror.

FSATSN TS FSATAST FTAHIT 1 3eger gga aReva Hifaw)

Define exothermic reaction and endothermic reaction with example.

3720€T / OR
oz va glafawaras sfaAfear #r 3aever afga aReniva Hifaw |

Define displacement and double displacements reaction with example.

AT ST T A g =T 98]

Draw a well labelled diagram of human eye.

3720ET/ OR
Fg & Oed g@anT 2 ad gerer & fagigor @1 R s |

Draw a diagram of dispersion of white light by the glass prism.

R & YTt & g e aor A

Werite any three properties of magnetic field lines.
AY4AT / OR

FATHIT FT I1H g8 (I3 g1y) &1 Fua [PfEw |

State Fleming's left-hand rule.

faega AT &1 amAferd = a= s

Draw a well labelled diagram of electric motor.

Y4t / OR

foega SIfer 7 AR o Ja gy |

Draw a well labelled diagram of electric generator.

(2)

(3)

(3)

(3)

(3)



14.

13,

16.

"o FH F 39T § e fAf@w | (#7123

Werite the advantages of using a solar cooker. (any 3)

372[aT / OR
FST & AL Wi H FIT 0T BT § 2

What are the qualities of an ideal sources of energy ?

(31) SerteAreRor ATATHAT F 3eEIor Figa aReva RS
(@) F=fafea F Taaees g7 o

(1) o= o7 (2) ToTEe 3T aRw
(a) Define nutrilization reaction with example.

(b) Write the chemical formula of following :

(1) Bleaching powder (2) Plaster of Peris
3IYar / OR

gieY T AT TG fher FIET & & Agccaqur 3y faf@w

Werite two important uses of washing soda and baking soda.

(37) e & gorrere faeg HXEeT FTE

(i) CHa, (i) CO,

o fr g R i
(i) TYAIEH 3+ (i) A=

(a) Draw the electron dot structure of following :

(i) CH, (i) CO,

(b) Draw the structures for the following:

(i) Ethanoic acid (ii) Bromopentane
HYET / OR

(37) WG TS FUAF H F$ aF AHaW AR
(F) FASTET Ao FHr gReg Hifed)

(a) Write any two differences between soap and detergent.

(b) Define the homologous series.

(3)

(4)

(4)



17.

18.

19.

20.

AT 3c8d dF FT T AHIRT =T IaEd| (4)
Draw a well labelled diagram of humun excretory system.

AYGTr / OR
TTRIST o MFETRIOT & fafesT Sfiat & 3o ared w1 & fafdes guar g7

What are the different ways in which glucose is oxidised to provide energy in various
organism ?

IR UleY gHAfT & A7 T 17 of@w | (4)

Werite the names and functions of four plant hormones.

3{4ar / OR
dTeFT FIART (FY) FT T AHRd =T TABY |

Draw a well labelled diagram of neuron (nerve cell).

faega oty 3m@ # 3937 gl ATl AT 3agal & &¢ feg aa ey
(2)
() foegd &7 (@) aR E (@) aegd o9 (3) dlecHT

Write the conventional symbols of the following components used in electric circuit
diagram —

(a) an electric cell (b) a wire joint (c) electric bulb  (d) Voltmeter

372aT / OR
(1) 30 F1 Faa gEem=y)
(2) faegd umr & gRemsT v gHeT S A o)

(1) State Ohm's law.

(2) Define electric current and write its S.1. unit.

(37) TR HIiST - (2)
(i) 37 TTF (ii) 91T
() AT IUTErAT & TR W aTg 3t v gt F fysg AfFw | (#:E3) (3)
(a) Define the term -
(i) Ore (ii) Gangue

(b) Differentiate between metal and non-metal on the basis of their chemical
properties. (any three).

3Yar / OR



21.

22,

(37) SNg T ST & J==T & & diih Taed|

(¥) HROT A=Y |

(i) ToIfesTH, BT TF TTET T 3TART TN AT & forw fRar S1ar §
(i) I T F ToaE 3= g a g

(a) State two ways to prevent the rusting of iron.

(b) Give reasons. |
(i) Platinum, gold and silver are used to make jewellery.

(ii) lonic compounds have high melting points.

T FT ey FIE F TS U AHAR [=F T8y | (5)

Draw a labelled diagram of the longitudinal section of flower.

372G / OR
(37) 3rHET A gfa-fawves $r i sararst &1 FAaR =T I 2y |
(F) F1F yadq Far § ?

(a) Draw in sequence, different stages of binary fission in amoeba.

(b) What is vegetative propagation ?

(37) Wraa=d & Fa [FfET) (5)
() 39 o1 F HT BlehH &I ATd HITSTT forHehr &7HaT -2.0 D &1 IE ford TehTT 7 i
g7

(a) Write the laws of reflection.

(b) Find the focal length of a lens of power -2.0 D. What type of lens is this?
AY4aT /OR

(37) FATAFR Fid &F I[Ch W THA F AT HT ING Fif=w|

(¥) Hado SUUT F I died 39AET AT |

(a) Draw a ray diagram of refraction of light through a rectangular glass slab.

(b) Write any three uses of concave mirror.
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